A = 0 & AF & & A A

SI2S: MABHSIAS
2 N SEMNRSH
¥ oM =2Xs: 28 EERE
ARG - 2A - B - BA(AA) - HRMY - BES Ol &k o e HDE 2
SEMNRED 80,417,471 164,332,501 83,915,030
= 25,073,169
Il 2,180,751
Al 53,163,551
=X=z 28 72,912,102 157,292,062|  ~84,379,960
=2 23,846,246
Il 163,743
Al 48,902, 113
%¥3pp L 29 2,719,329 1,906,875 812,454
= 1,463,454
Al 1,255,875
Heooopoy XY(NE) 13,000 13,000 0
=2 13,000
201 P2 A Y| 11,000 11,000 0
= 11,000
01 AFR 22l 7,500 7.500 0
oL R0 XS 2,860,000 2,860
2 2,860
o=zl 4,640,000 4,640
= 4,640
02 2229l 3,500 3,500 0
OZzZ22 ¢ HA 500
OREXM & REXNSEE 500,000 500
=2 500
OXfas eyl 3,000
oxtzaoitl ¥ 2FH 3,000,000 3,000
= 3,000
202 04 | 2,000 2,000 0
= 2,000
01 2O 2,000 2,000 0
TTYIEH L £AUH0 S LA 04
2,000,000 2,000
=2 2,000
Hoompoy X (N) 1,450,454 12,000 1,438,454
= 1,450,454
308 Xt XI A S 01 & 1,450,454 12,000 1,438,454
2 1,450,454




IHE: MAZH IS
2 N SSURED
¥ oM =2l =& 7 (So:aa)
ARG - 2A - B - BA(AA) - HRMY - BES Ol &k o e HDE2
01 HAESHBLSES 1,450,454 12,000 1,438,454
oMz 2E X2 12,000, 0002 12,000
2 12,000
OFSYD FAXAAML Sl 1,438,454,0002 1,438,454
2 1,438,454
Y2 OIZ 2 27 X 1,255,875 716,875 539,000
308 XX € %I S 0| & 356,875 356,875 0
R EREES! 356,875 356,875 0
OHUCHTHTY X 61,875,0002 61,875
ODEX ¥ SHUX ZLN 295,000,000% 295,000
403 XHXI € HI S X2 01 & 899,000 360,000 539,000
01 IXISHHT=EEE 899,000 360,000 539,000
SELEESII T 549,000,0002 549,000
OSHAN& SUEX 2 350,000,000 350,000
Mesgol 54 2 =X AW 789,635 505,860 283,775
2 427,170
Al 362,465
SHAY 28 2 X2 10,350 10,350 0
201 2Bt b 6,750 6,750 0
01 AFR 22l 6,750 6,750 0
OsHEF Qo M 6,750
oSMEFAM M L 222 HE 5,000,008 5,000
oz K¢ 1,750,000 1,750
203 & 2 =X bl 3,600 3,600 0
03 ANHETA2EZY| 3,600 3,600 0
OsEAMET 3,600,0002 3,600
2isns N 8,100 8,100 0
2 4,500
Al 3,600
307 21 2+0| & 8,100 8,100 0
2 4,500
Al 3,600
02 §IAHMARRE 8,100 8,100 0
O8H=nS X 8, 100,00024 8,100
2 4,500
Al 3,600
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NV EEE
SEMRED
=XsE P4 (Eo:82)
8- RA - BH - G(SH) - NSAY - By Ol &t o o H RS2
= 250,670
Al 53,715
OFE=sgo s d223| 3,120,000& 3,120
= 2,080
Al 1,040
sgel tHEXas A& 82,240 116,700 A 34,460
308 XXISHMSOI& 82,240 116,700 A 34,460
01 AXESHHINEXRZ 82,240 116,700 A 34,460
Osgo Hdstits N& 82,240,000& 82,240
=& ZS00lss4dH 29 N 44,000 13,700 30,300
= 44,000
308 RXIHMSOI& 44,000 13,700 30,300
= 44,000
01 AXESHHBINEERZ 44,000 13,700 30,300
=& 2S00I=sdH 23l 44,000,000& 44,000
= 44,000
s UssEdld 48,000 36,000 12,000
= 36,000
Al 12,000
308 AtXI M S0l & 48,000 36,000 12,000
= 36,000
Al 12,000
01 AIXNSHBLEES 48,000 36,000 12,000
O=g2Z24dE X 48,000,000 48,000
= 36,000
Al 12,000
Hesge =4 57,600 57,600 0
308 XXIHMSOI& 57,600 57,600 0
01 AXSHHINEERZ 57,600 57,600 0
OW&d=gel bt*Md XN& 57,600, 000& 57,600
M E = 2435 XA 102,000 0 102,000
= 84,000
Al 18,000
308 AtXI &M S0l & 102,000 0 102,000
= 84,000
Al 18,000




AR MABHALS
2 M SsEUM4RSH
¥ oM =2l =& 7 (So:aa)
RS - A - FEH - GA(SH) - HRAY - BHYS 0l &+ o HI RS 2
01 AIXNSHBLEES 102,000 0 102,000
OMIHE =Y 43 XA 102,000, 000& 102,000
= 84,000
Al 18,000
FUEsgo s AHEY K& 30,000 0 30,000
308 MK EHHM S0l & 30,000 0 30,000
01 AIXNSHIBLEES 30,000 0 30,000
OFE=go Z= ABHEY XA 30,000, 000& 30,000
CAN=sESH(TAsLEH XH) 56,000 56,000 0
308 AtXIEHHM S0l & 56,000 56,000 0
01 AXESHHINEXRZ 56,000 56,000 0
OZAN=sgX3dH XA 56,000,000& 56,000
SAN=g 8435 A (HY) 20,000 0 20,000
307 gIz2tol & 20,000 0 20,000
02 QItB AR E X 20,000 0 20,000
ON=E0l HEXs ss5XH 20,000, 000& 20,000
A=Y 843 XNA(XH) 12,000 0 12,000
308 MK EHHM S0l & 12,000 0 12,000
01 IXNSHBLEES 12,000 0 12,000
O=&d Mol XI& 8,000, 000& 8,000
OgR0t TAIsY sSsXH 4,000,000& 4,000
st &5 2H 14,910,853 16,569,061 A 1,658,208
= 14,591,806
Il 67,340
Al 251,707
HASBEDNEXNFZFNES 12,200,000 12,200,000 0
= 12,200,000
308 At XIHHMS0IH 12,200,000 12,200,000 0
= 12,200,000
01 HXNEHBAEXS 12,200,000 12,200,000 0
OAESEHEIEMN EX3 12,200,000, 000& 12,200,000
= 12,200,000
NEZ #HYEH NA(HY) 18,440 18,440 0
J| 18,440
201 L B2 F Hl 9,000 9,000 0
J| 9,000




mE
2Nsz 7
8- 2H - ZH-G(EH) - HRAY - HES 0l ko e
01 At 22ltl 9,000 9,000
OXgN2d B8 HMAS 4,000,000& 4,000
| 4,000
O=gtl 5,000, 000& 5,000
| 5,000
202 o4 Hl 3,000 3,000
| 3,000
01 =2 LHO HI 3,000 3,000
OXEmM2a oyl 3,000, 000& 3,000
| 3,000
206 M = Hl 6,440 6,440
| 6,440
01 M= dl 6,440 6,440
OBASSEXINZEM E2Z At 6,440,000 6,440
| 6,440
Ne=z Y EH XA (XH) 48,900 48,900
| 48,900
308 AtXI M S0l & 48,900 48,900
| 48,900
01 AIXNESHBLEEXS 48,900 48,900
OX== d&EZdl XA 48,900,000& 48,900
| 48,900
AH=2CHES 1,334,250 1,334,250
= 1,186,000
Al 148,250
308 IXISHMSOIE 1,334,250 1,334,250
= 1,186,000
Al 148,250
01 AXESEHBIHEES 1,334,250 1,334,250
O NG EM EX3 1,334,250,000& 1,334,250
= 1,186,000
Al 148,250
LsHEES 266,000 266,000
= 266,000
308 XtXIHMSO0I& 266,000 266,000
= 266,000




-8 (&)
8- RA - BH - G(SH) - NSAY - By Ol &t o o H RS2
01 REXIEHXI 266,000 266,000 0
Og=g3 266,000, 000& 266,000
= 266,000
MEd=sdAE 124,973 158,941 A 33,968
= 124,973
308 MXISHMSOIE 124,973 158,941 A 33,968
= 124,973
01 REXIEHXI 124,973 158,941 A 33,968
Oz =dy 124,973,000& 124,973
= 124,973
JAEHA= 6,410 6,410 0
= 4,273
Al 2,137
308 XtXIHMSO0I& 6,410 6,410 0
= 4,273
Al 2,137
01 REXIEHXI 6,410 6,410 0
OZ2aed 6,410,000& 6,410
= 4,273
Al 2,137
=EtEZSMEH K& 911,880 2,530,620 A 1,618,740
= 810,560
Al 101,320
308 MXISHMSOIE 911,880 2,530,620 A 1,618,740
= 810,560
Al 101,320
01 KXl EHAI 911,880 2,530,620 A 1,618,740
O=Et&2 THHH X 911,880,000& 911,880
= 810,560
Al 101,320
HESAE TOHAIE Ol N 31,450,000 118,515,870 A 87,065,870
FESNMEZHAEOH 31,450,000 118,515,870 A 87,065,870
401 Al EHI 2 2O HI 31,450,000 118,515,870 A 87,065,870
01 A& HI 31,450,000 116,899,870 A 85,449,870
ORESNMSZUHAE 0lX ArgHl 31,450,000,000& 31,450,000
NEAEs & s4 o 2,276,930 2,319,500 AN42,570




FIHEE: MM IHE
2 N SEMRED
¥ oM 2XsE 18 (o1 &2)
ARG - 2A - B - BA(AA) - HRMY - BES Ol &k o e HDE2
MeiSs o sABMY 84 = 757,000
Al 1,519,930
25 Doy MSAMK X 25,200 18,000 7,200
308 X Xl £ M S 01 & 25,200 18,000 7,200
01 HXCSGHBALSES 25,200 18,000 7,200
25 Doy HEAMA N 25,200,0002 25,200
250204 E R A 100,000 80,000 20,000
308 X+ X £ M S 01 & 100,000 80,000 20,000
01 HXSHZHRES 100,000 80,000 20,000
O3t DHAMNEH XL 100,000, 0002 100,000
U DAL MAIBAL E4 441,604 405,000 36,604
403 XX €+ S X+ 2 01 & 441,604 405,000 36,604
01 UXSAT2EE 441,604 405,000 36,604
Os D04 MAIIBIAIL = 441,604,0002 441,604
LESME R4 152,626 130,000 22,626
308 X Xl £ M S 01 & 152,626 130,000 22,626
01 HXCSGHBALSES 152,626 130,000 22,626
OSAE #2234 X 74,205,0002 74,205
OSAE +5Z&Y N 78,421,000 78,421
HIE AME D] N (HE) 250,000 260,000 A10,000
= 125,000
Al 125,000
307 B12+0| & 250,000 260,000 10,000
3 125,000
Al 125,000
02 BIHAMANLEE 250,000 260,000 10,000
OHIZ MMEDS X2 (X 250,000,0002 250,000
= 125,000
Al 125,000
HIE AME DS N (X) 52,500 15,000 37,500
= 35,000
Al 17,500
308 X+ X £ S 0| & 52,500 15,000 37,500
= 35,000
Al 17,500
01 HXSHABLLTS 52,500 15,000 37,500




IHE: MAZH IS
2 N SSURED
¥ oM =2l =& 7 (So:aa)
RS - 2N - BH -2 (F) - MEMY - BES Ofl &+ o Oaﬂgi Hns
OHl2 AMEns 12 (U) 52,500,000 52,500
2 35,000
Al 7,500
SAZ AHNSH DSES XS 40,000 40,000 0
2 20,000
Al 20,000
307 212+0| 40,000 40,000 0
2 20,000
Al 20,000
02 SIAHHMARRE 40,000 40,000 0
Os4EZ AHINEH RSS2 XY 40,000,0002 40,000
2 20,000
Al 20,000
SAEMY B XD 12,000 12,000 0
201 LBt bl 12,000 12,000 0
01 At 22l 2,000 2,000 0
OS5 B4 29 2,000,0002 2,000
02 Tzl 10,000 10,000 0
O MO8t Al 2= 21| 2 (FAO)& 2316l 10,000,000 10,000
BXHAI S B A5 X R A 602,000 620,000 A18,000
2 200,000
Al 402,000
202 01 | 2,000 0 2,000
01 201 2,000 0 2,000
OMEIZAHH AT AS S) 600,0002! 600
OAgRE BB 1,400,0002! 1,400
308 XX € %I S 0l & 600,000 620,000 20,000
2 200,000
Al 400,000
10 ZOIZSOICHE 2 & X PISA R b 600,000 620,000 20,000
OBXtAS BH5 NAHAY 600,000,000 600,000
2 200,000
Al 400,000
AR BYs 6XAE OHE XS 35,500 34,000 1,500
308 XX € %I S 0l & 35,500 34,000 1,500
01 RXSHBLEES 35,500 34,000 1,500




=E4S
2Nsz 7 el Ew
8- RA - BH - G(SH) - NSAY - By Ol &t o o H RS2
Oa2ml Y= 61 35,500,000& 35,500
TSsSSua WA X 565,500 565,500 0
= 377,000
Al 188,500
308 IXISHMSOIE 565,500 565,500 0
= 377,000
Al 188,500
01 AXESHHIHNEES 565,500 565,500 0
Oxzs&s3sud Y 565,500, 000& 565,500
= 377,000
Al 188,500
#EA=sd=4 6,885,587 6,874,434 11,153
= 2,793,466
Al 4,092,121
dadsgy N 1,232,236 1,456,169 A 223,933
308 AtXI M S0l & 1,232,236 1,456, 169 A 223,933
01 AXESHHINEES 1,232,236 1,456,169 A 223,933
OrsZ=8X& 102,900, 000& 102,900
Oz sd =422 34l X 48,504,000& 48,504
Osgilids d42 131,750, 000& 131,750
OHE=E 2= AtY 70,194,000& 70,194
OBME =2 K& 878,888,000& 878,888
SI&2Hl= XA 4,761,694 4,833,984 AT2,290
= 2,126,296
Al 2,635,398
308 MXIHMSOIE 4,761,694 4,833,984 AT2,290
= 2,126,296
Al 2,635,398
01 AXESHHINEES 4,761,694 4,833,984 AT2,290
SOz XA 4,761,694,000& 4,761,694
= 2,126,296
Al 2,635,398
EAHEM XA 741,887 377,981 363,906
= 584,035
Al 157,852
308 MXIHMSOI& 741,887 377,981 363,906




NEENEED
SENESH
=NsE P8 ST
8- 2H - ZH-G(EH) - HRAY - HES 0l ko e 52
308 XHXIHMSOI& = 584,035
Al 157,852
01 IXNESHMBLEEXS 741,887 377,981 363,906
OE2ZMEH X 741,887,000 741,887
= 584,035
Al 157,852
FIlsS N K& 104,270 102,800 1,470
= 52,135
Al 52,135
308 AtXI M S0l & 104,270 102,800 1,470
= 52,135
Al 52,135
01 AXESHHINEERZ 104,270 102,800 1,470
FI=sS MM XA 104,270, 000& 104,270
= 52,135
Al 52,135
GAP ot d 2AXIE 37,500 67,500 A 30,000
= 25,000
Al 12,500
308 XtXISHMSOI& 37,500 67,500 A 30,000
= 25,000
Al 12,500
01 "IXNESHHMBLEEXS 37,500 67,500 A 30,000
OGAP &t Y 2A&X & 37,500, 000& 37,500
= 25,000
Al 12,500
GAP AlE 2 & 8,000 36,000 A 28,000
= 6,000
Al 2,000
403 X HHMSHE0IH 8,000 36,000 A 28,000
= 6,000
Al 2,000
01 AXSHHA2E= 8,000 36,000 A 28,000
OGAP Al 8,000
= 6,000
Al 2,000




NV EEE
SENESH
SN=E P8 (el d
8- RA - BH - G(SH) - NSAY - By Ol &t o o H RS2
a2 A Jletxd 3,872,847 3,267,252 605,595
= 469,274
| 21,372
Al 3,382,201
AEZAESIAH B2 240,240 145,200 95,040
403 RAtXISHHS K201 A 240,240 145,200 95,040
01 AXIE M A= 8 X 240,240 145,200 95,040
OreZL2EsIIH B2 240,240,000 240,240
SIIAH LA (XEA) 460,000 310,000 150,000
308 XHXIHMSOI& 160,000 160,000 0
01 AXESHHINEEXZ 160,000 160, 000 0
OsJAHSUHAIE S 23 160,000, 000& 160,000
403 AtXISHHS K201 A 300,000 150,000 150,000
01 AXESHHA2E=E 300,000 150,000 150,000
OsJIHSUAMG 300,000, 000& 300,000
SIHSSHEX 25 XA 25,690 126,560 A100,870
= 14,680
Al 11,010
403 At XIHHMS K201 & 25,690 126,560 A 100,870
= 14,680
Al 11,010
01 XS 2E = 25,690 126,560 A 100,870
OsJIHSEXN 2 25,690,000& 25,690
= 14,680
Al 11,010
SSEZO0F MIUXNEBZALE KA 34,294 82,631 N48,337
= 19,594
Al 14,700
403 AtXISHHS K201 A 34,294 82,631 AN 48,337
= 19,594
Al 14,700
01 XS A2E = 34,294 82,631 N 48,337
O=sgz0oF Xz 34,294,000 34,294
= 19,594
Al 14,700
NEJ0S s X 16,226 107,810 A 91,584




NEENEED
SENESH
2Nsz 7 el a e
8- 2H - ZH-G(EH) - HRAY - HES 0l ko e 52
NEJ0S s X J| 9,272
Al 6,954
403 At XIS M S K201 A 16,226 107,810 A91,584
| 9,272
Al 6,954
01 XS A2E = 16,226 107,810 A 91,584
OAZ20tHat X2 16,226,000 16,226
| 9,272
Al 6,954
EERSAMLS U XA (24) 21,175 31,675 210,500
| 12,100
Al 9,075
403 At XIHHMS K201 & 21,175 31,675 210,500
| 12,100
Al 9,075
01 AXSHHAH2E = 21,175 31,675 A 10,500
OSESXSAESUZ XA () 21,175,000& 21,175
| 12,100
Al 9,075
st 58 NE 356,315 348,890 7,425
307 2120l A 30,000 30,000 0
02 CItA AR E X 30,000 30,000 0
O=UaSEs &t XA 10,000, 000& 10,000
Oss=E¢=2 SE2US 24 N 20,000,000& 20,000
308 AtXI &M S0l & 326,315 318,890 7,425
01 AXESHHINEES 326,315 318,890 7,425
OZst=ss4= HZ =M 50,000, 000& 50,000
Osd&2 28 74l XA 276,315,000& 276,315
HAllsdE2 MRSHHA ASAY 871,000 935,282 A64,282
403 AtXISHHS K201 A 871,000 935,282 A64,282
01 RXESHH A2 x 871,000 935,282 A64,282
Ostte 78 M2ME1D X3 871,000, 000& 871,000
s¢E2 HEFAECH ZEMHY XA 398,414 360,000 38,414
308 AtXI &M S0l & 398,414 360,000 38,414
01 AXSHHINEES 398,414 360,000 38,414
OsdsE HERZF o Z&3M K& 398,414,000 398,414




IHE: MAZH IS
2 N SSURED
¥ oM =2l =& 7 (So:aa)
ARG - 2A - B - BA(AA) - HRMY - BES Ol &k o e HDE2
TA2RsY 84 N 698,993 705,954 ~6,961
403 XHXI €I S X2 01 & 698,993 705,954 ~6,961
01 XXISHHREEE 698,993 705,954 £6,961
OZAN2RsY S 198,738,000 198,738
OUSHE=Y SLX 2 500,255,0002 500,255
B HEs KR 4N 30,000 0 30,000
403 Xt XI A S X+ = 0 & 30,000 0 30,000
01 HX ML S 30,000 0 30,000
Ob N3 S2% 43 X 30,000,0002 30,000
SX2 YilE YR 4245 X 68,000 0 68,000
403 XHXI €I S X2 01 & 68,000 0 68,000
01 X SHREEE 68,000 0 68,000
Os=2 gils YN 425 X 68,000,0002 68,000
SO YA A S N 600,000 0 600,000
2 400,000
Al 200,000
308 XX € %I S 0l & 600,000 0 600,000
2 400,000
Al 200,000
01 HXISHBLRSES 600,000 0 600,000
O=0IM LUAZA 29 N 600,000,0002 600,000
2 400,000
Al 200,000
CEESE 501 23 52,500 0 52,500
2 35,000
Al 17,500
403 XHXI €I S X2 01 & 52,500 0 52,500
2 35,000
Al 7,500
01 IXISHHT=EEE 52,500 0 52,500
Ool&ASE 51 23 52,500, 0002 52,500
2 35,000
Al 7,500
SOl THAh Ol 4,775,550 4,250,000 525,550
2 3,306,000
Al 1,469,550




PR MAAMTIRS
2 A SENRSD
¥ oM =2XsE 78 (ol &a
VS| - 2A - BB B (BH) - NRAY - BES 01l & 24 e HRE2
bl < JH & 815,000 2,500,000 A 1,685,000
= 815,000
402 QIR0 B 815,000 2,500,000 A 1,685,000
= 815,000
02 BIZEXHE AR R (0| FTHE) 815,000 2,500,000 A 1,685,000
OZFEXT BH2INe At 815,000,000 815,000
= 815,000
=SEREIETES BIEENESE-D 1,511,000 500,000 1,011,000
=2 1,511,000
402 RIZEXHE 0 & 1,511,000 500, 000 1,011,000
= 1,511,000
02 QIR EAHBE(OI M) 1,511,000 500, 000 1,011,000
ORNMB2ALTH W24 A 1,511,000,000% 1,511,000
= 1,511,000
=SEREIETESBIEENOED 1,470,000 1,200,000 270,000
=2 980,000
Al 490,000
403 XX SHSK =0l E 1,470,000 1,200,000 270,000
= 980,000
Al 490,000
01 HXSHGZEE 1,470,000 1,200,000 270,000
OXI 2L TR W24 A S 1,470,000,000% 1,470,000
= 980,000
Al 490,000
SsSB4 BEALAY 7S 50,000 50,000 0
403 XXM SK=0IE 50,000 50,000 0
01 HXSHHZEE 50,000 50,000 0
O5A84 BEAAY ASAY 50,000,000 50,000
HS=E 0 =598 HEXN &X N 600,000 0 600,000
403 Xt X € XIS X2 0] ® 600,000 0 600,000
01 HXESHZLE 600,000 0 600,000
Osg8 45X M 600,000,000 600,000
IS SYs4s BSAY 329,550 0 329,550
403 XX SHSK=0lE 329,550 0 329,550
01 HXSHHZEE 329,550 0 329,550
OXSUH =8 2EINY XA 299,550,0008 299,550




AR5 ALAMANE
2 N sEMesH
Yy M =2lsE 28 (el d e
RS - 2N - ZBH -2 (3H) - MBPAY - HHES Oll &k oH agi Hns2
OJI2UHl S84 23 2H+AL X2
30,000,000 30,000
OHYE SMAD|E HY 5,150,031 2,872,870 2,277,161
7| 75,031
Al 5,075,000
SX0ISAH ALY 22 X 75,031 62,870 12,161
7| 75,031
308 Xt XI EHHI S0l & 75,031 62,870 12,161
7| 75,031
01 IXSHBALES 75,031 62,870 12,161
OsXol222 XA (SX0I2AEHE AL 75,031,0008 75,031
7| 75,031
21 S2UAL BH X 250,000 150,000 100,000
308 Xk XI EHHl S0l & 250,000 150,000 100,000
01 AXSHBAZEZ 250,000 150,000 100,000
FelA 2N ER2H BHX 250,000, 0002 250,000
SIIeHE Y (RHA) 1,700,000 500,000 1,200,000
403 RHXISHH S AH=0|H 1,700,000 500,000 1,200,000
01 AXSH2EE 1,700,000 500,000 1,200,000
OMSBaz S D2 SAX AL (Z0 04
300,000,000€ 300,000
O &=4e] BiaAlE FH L SHZE ZA(EOOA)
200,000,000€ 200,000
OYEH 242 SHI2=2 U2 AH(EO0lA)
200,000,000& 200,000
OYs®o 22AL HES 500,000,000€ 500,000
ODAXMER +EH UX 500,000,000 500,000
S0 EY (ME-X& ) 3,125,000 0 3,125,000
403 RHXISHHI S A2 0| & 3,125,000 0 3,125,000
01 RXSHI22 X 3,125,000 0 3,125,000
OMMXIT tH7E ZXF2IAY  1,800,000,0008 1,800,000
OzZrael xelAEies 1,325,000,000& 1,325,000
S0E Nope 81,340 56,340 25,000
= 38,076
Al 43,264
SEAZFH 84 N 79,855 54,855 25,000
= 36,934




PR MAAMTIRS
2 A SENRSD
¥ oM =2XsE 78 (ol &a
VS| - 2A - BB B (BH) - NRAY - BES 01l & 24 e HRE2
SZ2YFH S8 N Al 42,921
308 Xt XI € X S 01 & 79,855 54,855 25,000
=2 36,934
Al 42,921
01 HXSHBARE2 79,855 54,855 25,000
OSEHSUS ARE 12| 21,600,000 21,600
= 14,400
Al 7,200
OSZHE0S2EIIYX 2 3,555,000 3,555
= 2,734
Al 821
Os=0let HUlA XS 16,200,000 16,200
=2 10,800
Al 5,400
OsZ=H 2 13,500,00084 13,500
=2 9,000
Al 4,500
Os0Zzos #535 N A 25,000,000 25,000
ME0E 26 1] XY 1,485 1,485 0
=2 1,142
Al 343
308 Xt XI € X S 01 & 1,485 1,485 0
= 1,142
Al 343
01 HXESHYaRES 1,485 1,485 0
Os=H8lis 2gLs 1 1,485,000% 1,485
= 1,142
Al 343
=N 3 B 7,358,616 6,997,343 361,273
= 1,226,923
ol 2,017,008
Al 4,114,685
Eas0 BN N 3,928,259 4,428,821 A500,562
ol 1,564,068
Al 2,364, 191
NENSAR L SLELS MY 259,555 219,080 40,475
|




NV EEE
SENESH
=4 AW A3 (crel:dg)
8- RA - BH - G(SH) - NSAY - By Ol &t o o H RS2
308 XHXIHMSOI& 259,555 219,080 40,475
01 AXESHHBINEEXZ 259,555 219,080 40,475
Oxsozs+dEz X 4,330
ORXIILEWA K& 118,500, 000& 118,500
OSO0LXl 24 Ao I A 1,200
OMetx XI& 37,125
OLSI KM K& 98,400, 000& 98,400
Sues =4 N 1,730,188 2,109,873 A 379,685
| 1,038,113
Al 692,075
307 212tol & 1,730,188 2,109,873 A 379,685
| 1,038,113
Al 692,075
02 QItA AR E X 1,730,188 2,109,873 A 379,685
Ostuesaa X 1,730, 188,000& 1,730,188
J| 1,038,113
Al 692,075
Lstetsse EE 4 500,000 296,700 203,300
308 AHXIHMSO0I& 500,000 296,700 203,300
01 AXESHHBINEES 500,000 296,700 203,300
OetREHESLAMS 500,000, 000& 500,000
FHEg e X3 354,290 358,600 A4,310
308 XtXISHMSOI& 354,290 358,600 AN4,310
01 AIXNSHBLEES 354,290 358,600 A4,310
OFMSZMEH K& 118,760, 000& 118,760
ON=Es =222 H N 230,670,000& 230,670
Omeld=Y (=& 4,860
=2 EY%HIS XA 60,000 12,750 47,250
| 40,000
Al 20,000
403 X HMSHE0IH 60,000 12,750 47,250
| 40,000
Al 20,000
01 MHXESHHA2E = 60,000 12,750 47,250
Ot E9dls X 60,000
| 40,000




SE
=4 ZH Ysl CEERED
8- 2H - ZE-GS(BH) - HRAY - BYS 0l &+ o HI RS 2
Al 20,000
IMNZHMZ STHFY X 18,000 15,000 3,000
J| 18,000
308 Xt XI A S0l & 18,000 15,000 3,000
J| 18,000
01 AIXNESHHBLEEXS 18,000 15,000 3,000
OXZMEE SHFY XE 18,000, 000& 18,000
J| 18,000
SSMSOHM = 361,061 217,755 143,306
J| 223,555
Al 137,506
308 AtXIHHMS0IH 361,061 217,755 143,306
J| 223,555
Al 137,506
01 HXNEHBAEXZ 361,061 217,755 143,306
Ot 50t ME A 361,061,000& 361,061
J| 223,555
Al 137,506
=20 N 28,560 27,300 1,260
308 AtXIEHHMS0I& 28,560 27,300 1,260
01 AIXNESHMBLEEXS 28,560 27,300 1,260
Ods&=0 XN& 28,560, 000& 28,560
IAME At X HE2s5H XA 162,000 180,000 A 18,000
J| 81,000
Al 81,000
308 AtXIHHMS0IH 162,000 180,000 A 18,000
J| 81,000
Al 81,000
01 AXNESHHMBLEEXS 162,000 180,000 A 18,000
OZXZME AM2lX HME23H XI& 162,000,000 162,000
J| 81,000
Al 81,000
MNE2ZE X 1,200 1,200 0
206 TH 2 4l 1,200 1,200 0
01 M= Hl 1,200 1,200 0
OAMNZHEYZE ANZMHF M= F+2Hl 1,200,000 1,200




2 s=4
B oM =M A Y3 (sl @
SIRB - A BB (BH) - NBAY - BES 0 &t o8 e HRE2
A SHACCPZ & &l (M ARSI 9,900 9,900 0
J| 7,200
Al 2,700
308 AHXIEHHMS0I& 9,900 9,900 0
Jl 7,200
Al 2,700
01 HXEHMBAEXS 9,900 9,900 0
O=4&= HACCP ZH&E 9,900,000 9,900
J| 7,200
Al 2,700
Z 51/l ol & 163,995 159,000 4,995
403 X HMS 201 H 163,995 159,000 4,995
01 AHXESHHA2ER 163,995 159,000 4,995
O=M U8B AHERAE KA 148,995,000 148,995
Ox=lg 4271 N&A 15,000,000& 15,000
=2 HaiEs N& 60,000 13,875 46,125
J| 40,000
Al 20,000
403 X HMS =201 H 60,000 13,875 46,125
Jl 40,000
Al 20,000
01 AXESHHA2EX 60,000 13,875 46,125
Ol st X&E 60,000,000& 60,000
J| 40,000
Al 20,000
ZSYl Jt=s HIYS2H KA 37,110 0 37,110
308 At XIHHMS0IH 37,110 0 37,110
01 HXEHMBAEXS 37,110 0 37,110
O=ZZ0UYl Jt= B9S2 H N& 37,110,000& 37,110
EH 2= BIEXNI (UL SE22INE) 72,400 0 72,400
J| 36,200
Al 36,200
308 AHXIEHHM S0l & 72,400 0 72,400
Jl 36,200
Al 36,200
01 AXESHHINEXRZ 72,400 0 72,400




NEENEED
SENESH
TR SE-ED)
8- 2H - ZH-G(EH) - HRAY - HES 0l ko e 52
Ol ®E X 72,400
| 36,200
Al 36,200
Ot= & &8I XA SHALY 110,000 0 110,000
| 80,000
Al 30,000
308 XtXIHMSO0I& 110,000 0 110,000
J| 80,000
Al 30,000
01 AIXNESHILEES 110,000 0 110,000
O0t=d Edl XA 110,000, 000& 110,000
| 80,000
Al 30,000
M2 HEA 25 419,774 330,502 89,272
= 69,400
| 185,202
Al 165,172
FME =00 L WHEHl XA ( 3,400 3,400 0
= 1,700
Al 1,700
206 M = 4l 3,400 3,400 0
= 1,700
Al 1,700
01 M=z dl 3,400 3,400 0
OF4&2 +=Hdl £ MEdl XJ( 3,400
= 1,700
Al 1,700
S4M2 =04 € HEH XA (XE) 6,000 6,000 0
= 3,000
Al 3,000
308 AtXI M S0l & 6,000 6,000 0
= 3,000
Al 3,000
01 AXSHHINEERZ 6,000 6,000 0
OF&2 =0 £ MEHl X (KH) 6,000
= 3,000




NV EEE
SEMRED
=4 ZH Ysl (el d
8- 2H - ZE-GS(BH) - HRAY - BYS 0l &+ o HI RS 2
Al 3,000
USMUEALZANE 28 = 7,050 6,375 675
= 4,700
Al 2,350
308 AtXIEHHMS0I& 7,050 6,375 675
= 4,700
Al 2,350
01 HXNSHBEX= 7,050 6,375 675
OZ=s&S FAMZAE =& 7,050,000 7,050
= 4,700
Al 2,350
SM2olg el X 27,924 36,260 A 8,336
J| 13,962
Al 13,962
307 glz2tol & 27,924 36,260 A 8,336
J| 13,962
Al 13,962
02 QIZHB A AMHEX 27,924 36,260 A 8,336
O20J] olgd =8Nl 27,924 ,000& 27,924
Jl 13,962
Al 13,962
SEZAME o1AH XA 285,400 278,467 6,933
Il 171,240
Al 114,160
307 212tol & 285,400 278,467 6,933
J| 171,240
Al 114,160
02 QItB AR E X 285,400 278,467 6,933
OZ=ZAMA 1AHH XA 285,400, 000& 285,400
J| 171,240
Al 114,160
Het 3z 22 XA 90,000 0 90,000
= 60,000
Al 30,000
403 X HM S =01 H 90,000 0 90,000
= 60,000




IHE: MAZH IS
2 N SSURED
o =M M Lo (So:aa)
VS| - 2A - BB B (BH) - NRAY - BES 01l & 24 e HIRE 2

403 X HMSKH=01H Al 30,000

01 AXIESHAZ2EX 90,000 0 90,000
OAHgt dExz 2e X 90,000, 000& 90,000
= 60,000
Al 30,000

=g 2el 2,331,816 1,813,446 518,370
= 971,497
J| 267,738
Al 1,092,581

NEHSHIEUHMFA 417,679 263,707 153,972

201 L Er2IH| 10,590 7,590 3,000

01 AFR2eldl 6,480 3,480 3,000
O=2oA H=WSWM M= 3,480,000& 3,480
Oi=¢4d g2 MA 3,000, 000& 3,000

02 3323l 4,110 4,110 0
Oogaxg 24 4,110,000 4,110

206 M =8l 12,970 11,070 1,900

01 M= Hl 12,970 11,070 1,900
(OFAF=2-1g=. 10,000, 000& 10,000
Os2EAAET =HAHMHYI 2,970,000& 2,970

308 AtXI M S0l & 334,119 212,047 122,072

01 MXNSEHBAEES 334,119 212,047 122,072
ON=224dEE ogas N 70,269,000& 70,269
OZHEUHLES A=l 55,000, 000& 55,000
OHX =AHLHE HLFA 43,200,000& 43,200
OFME & =FASIAHA Ol & 82,250,000& 82,250
39 =Y 54,600,000& 54,600
O dE) =M XA 28,800, 000& 28,800

403 X HHMSHE0IH 60,000 33,000 27,000

01 XS A2E = 60,000 33,000 27,000
Od=s0t SE2I&EX XA 60,000, 000& 60,000

IIsEY g ¥ AERY S NI (HEY) 168,941 194,011 225,070
= 92,475
Al 76,466

201 L B2 F Hl 59,400 74,250 A 14,850
= 29,700




NV EEE
SEMRED
=4 AW A3 CCET
8- 2H - ZE-GS(BH) - HRAY - BYS 0l &+ o HI RS 2
201 £ B2 Hl Al 29,700
02 2224l 59,400 74,250 A 14,850
O=UTHESEM X 59,400, 000& 59,400
= 29,700
Al 29,700
206 M =8l 109, 541 119,761 210,220
= 62,775
Al 46,766
01 M= Hl 109, 541 119,761 A 10,220
OJI=EHIE ML= A 109,541,000& 109, 541
= 62,775
Al 46,766
IIsEY g ¥ AERY S NA(XEF) 194,385 506,812 N312,427
= 118,914
Al 75,471
308 At XIEHHMS0IH 194,385 506,812 A 312,427
= 118,914
Al 75,471
01 AXESHHIHNEES 194,385 506,812 AN 312,427
QX MIZB0lcAA 0l == At 54,900, 000& 54,900
= 36,600
Al 18,300
OZdE Y= At 27,720,000 27,720
= 19,404
Al 8,316
O B4ty - 23y WESAH 56,550,000 56,550
= 26,100
Al 30,450
OHNA22HEE & XA 13,500, 000& 13,500
= 9,000
Al 4,500
OJta=sit 2d2el X 22,500, 000& 22,500
= 15,000
Al 7,500
OJsYd Jtagdss 11,250, 000& 11,250
= 7,500




NV EEE
SENESH
=4 AW A3 CCET
8- RA - BH - G(SH) - NSAY - By Ol &t o o H RS2
Al 3,750
OF AR GPS S| MM XA 7,965,000 7,965
= 5,310
Al 2,655
2HY g ¥ AERY S N (XH) 339,685 0 339,685
= 270,108
Al 69,577
308 IXIHMSOI& 339,685 0 339,685
= 270,108
Al 69,577
01 AXEEHBHEES 339,685 0 339,685
OF M 0l == At 278,275,000 278,275
= 229,168
Al 49,107
O M ol sl HS A= 52,500,000& 52,500
= 35,000
Al 17,500
OFHMSE HeES 235K 8,910,000& 8,910
= 5,940
Al 2,970
NEHEXN A= 22 350,000 0 350,000
= 200,000
Al 150,000
308 MXIHMSOIE 350,000 0 350,000
= 200,000
Al 150,000
01 AXESHHINEES 350,000 0 350,000
OIt=lESX =52 350,000,000& 350,000
= 200,000
Al 150,000
SHMEA2E & 2=SHESXE 150,000 150,000 0
= 100,000
Al 50,000
308 XtXIHMSO0I& 150,000 150,000 0
= 100,000
Al 50,000




= ==
Hom: E4 2 L3 CERED
ARG - 2A - B - BA(AA) - HRMY - BES Ol &k o e HDE 2
01 AIXNSHBLEES 150,000 150,000 0
OSHz=A2d & AsHEXE 150,000, 000& 150,000
= 100,000
Al 50,000
HHEEH3 213,750 213,750 0
= 190,000
Al 23,750
308 AtXIHHMS0IH 213,750 213,750 0
= 190,000
Al 23,750
01 NXNEHMBAEXS 213,750 213,750 0
OHEEs= 213,750,000& 213,750
= 190,000
Al 23,750
IIEAMYARNF 2R LAA A X 190,500 158, 100 32,400
J| 114,300
Al 76,200
307 2I2tol & 190,500 158,100 32,400
J| 114,300
Al 76,200
02 QIZHB A AMHE X 190,500 158, 100 32,400
OYSER YARA 32X 190,500, 000& 190,500
J| 114,300
Al 76,200
SsENH 2 306,876 299,066 7,810
J| 153,438
Al 153,438
307 glz2tol & 306,876 299,066 7,810
J| 163,438
Al 153,438
02 V2B HAMHEX 306,876 299,066 7,810
OgMA=Y SsLHH 29 306,876,000 306,876
J| 153,438
Al 153,438
SEE2s 22 678,767 424,574 254,193
= 186,026




SE
=4 ZH Ysl (el d
8- 2H - ZE-GS(BH) - HRAY - BYS 0l &+ o HI RS 2
s=235 22l Al 492,741
4 RIS2 2T ML X 93,979 115,539 A 21,560
= 36,526
Al 57,453
308 AHXIHHMS0IH 93,979 115,539 A 21,560
= 36,526
Al 57,453
01 AIXNSHILEES 93,979 115,539 A 21,560
O+ 7&Hl NH 72,139,000& 72,139
= 24,046
Al 48,093
OR4Y - ®Ilss Y 21,840,000& 21,840
= 12,480
Al 9,360
D20l S8st+= N 123,750 101,250 22,500
= 49,500
Al 74,250
308 At XIEHHM S0l & 123,750 101,250 22,500
= 49,500
Al 74,250
01 AIXNESHMBLEEXS 123,750 101,250 22,500
OZ2d0l sS4t 123,750, 000& 123,750
= 49,500
Al 74,250
teis e 2a=H KA 200,000 0 200,000
= 100,000
Al 100,000
201 L Er2IH| 200,000 0 200,000
= 100,000
Al 100,000
03 A2 Y| 200,000 0 200,000
Obttd=s=2 E3=H HA 200,000, 000& 200,000
= 100,000
Al 100,000
2020 SE3AE EEX (Z0od0llah) 10,000 0 10,000
201 L B2 F Hl 10,000 0 10,000




L?:‘T;cﬂai 23t (CHe &)
A5| - A - B . (BH) - NSAY - BES Ol &t 08 o HDS 2
01 At 22| 8l 10,000 0 10,000
OZNA0 EHSIAY E=XE M O (20 0AH)
10,000,000& 10,000
2D2A0 SHSFANEE ZTEEY SE (00 10,098 0 10,098
308 XX EMSOIA 10,098 0 10,098
01 HXSMBALEEZ 10,098 0 10,098
OZ N0 SHSIANEE ZEEH (00 AH)
10,098,000& 10,098
OPleE Btedd S WE NS (20 0AH 13,440 0 13,440
308 XX EHM SO0 A 13,440 0 13,440
01 AIXIEHIAEERZ 13,440 0 13,440
OO0t vteld dsd s A)
13,440,000& 13,440
MY S2E2354dH HE =& 50,000 0 50,000
401 Al EHI L 2 04| 50,000 0 50,000
01 Al&H| 50,000 0 50,000
OA &2d SSEsdyH Hg =4 50,000,000& 50,000
RIs= 22l 158,000 158,000 0
201 dBt249| 2,000 2,000 0
01 At 22| 8l 2,000 2,000 0
Os=Es 22 M& 2,000,000& 2,000
308 XX EM SO0 A 156,000 156,000 0
01 AIXIESHHIAEEXZS 156,000 156,000 0
ORJls=zs &2l 156,000, 000& 156,000
2020 22 23 540 30,825 AN 30,285
308 XX EHMSOIA 540 30,825 A 30,285
01 XXM EABEXZ 540 30,825 AN 30,285
o210l 4aA 44X XS 540,000& 540
FMSIE RI1A ZTE I 18,960 18,960 0
308 XX EMSOIA 18,960 18,960 0
01 HXSMBAEEZ 18,960 18,960 0
OO0tMsl=l RI|1A ZTEAY 2 X 2,970,000 2,970
OO0tMsteEl RI1A S+ELEH X3 15,990, 000& 15,990
HE2HEH 40,504 43,096 N 2,592
2l (ssM4RSH) 40,504 43,096 N2,592
fMHE9Y| 40,504 43,096 N2,592
201 28t Al 21,467 22,964 N 1,497




LRGN L
2 M SSNRED
oM #y2YA (B9 89)
AR - A - BB - BRA(AH) - MBAY - B O &k o e HDE 2
01 AtR2teldl 19,467 20,964 A 1,497
Oggt==&H| 9,227,000 9,227
O= &l 10,240,000& 10,240
02 22292l 2,000 2,000 0
OXt&H eyl 2,000,000& 2,000
202 (4 1l 14,237 15,332 A 1,095
01 =Ll 14,237 15,332 A 1,095
OJI2gf+8 =& 0l 14,237,000 14,237
203 Y2 =&l 4,800 4,800 0
04 RA2EHRFEHI 4,800 4,800 0
OfFM2IZRFEH 4,800,000 4,800
Hees(ssasst) 106,249 0 106,249
TESNUHSZUHAE 0N 106,249 0 106,249
=2 Aclz &8 106,249 0 106,249
705 0= dcl=aE 106,249 0 106,249
02 Ol=== 0l Xt &f & 106,249 0 106,249
Oul=3 OlX+ && 106,249,000 106,249






